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Instructions to candidates:

1. Answer ALL Questions.

a

2. The use of calculators is permitted.

i.  Briefly explain any four main features of the financial statements.

{04 Marks)

1.  Gearing is one of the frequently used financial ratios to measure the long term
financial stability of a company. Explain the weaknesses in this financial ratio and

suggest possible solutions to overcome those weaknesses.

(08 Marks)

iii.  The following information is extracted from the books of CCS (PLC).

Year | NP Marginratio | Asset Turnover Ratio { Financial Leverage

2017 8.44% 1.88 1.58

2016 5.51% 1.73 1.55

a. Calculate the return on equity (ROE) of CCS (PLC) for the financial years 2016
and 2017.

(06 Marks)



il

b. The management of CCS (PLC} is expecting to increase the financial leverage of
the company up to 1.8 in the next financial year (i.e. 2018). Further, it anticipates
the net profit margin will increase by 6.7% and asset turnover ratio to increase up
to 2 in the next financial year as a result of the change in the financial leverage of
the company. Analyse the impact of above changes on ROE of the company and

comment on your results,
{07 Marks)

(Total 25 marks)

The corporale failure models such as A Score model attributed to Argenti (1976) are
important to predict the bankruptcy risk of a company. Explain how Argenti's A
Score model can be used in predicting the bankruptcy risk of a company

(12 Marks)

Apex PLC leases a machine to Mount PLC. The lease is for six years at an annual cost
of Rs. 400,000 payable in arrears. The fair value of the machinery is Rs. 1.8 million
and the useful economic life of the machinery is estimated as 8 years. The implicit

interest rate is 10.84%.

a. Briefly explain how Mount PLC should account for the above lease agreement.

(02 Marks)

b. Prepare the extracts from financial statements of Mount PLC for the first financial

year.
(11 Marks)

(Total 25 marks)



i.  The following information is extracted from the financial statements of Amba PLC
for the financial year 2016/2017.

Total sales (Rs,) 750,000
Net profit (Rs.) 25,000
Share capital (Rs. 1.00) 100,000
Debt (Rs.) 90,000
Dividend per share (Rs.) 0.10
Debt to Equity (debt/equity) ratio 45%

The Chief Executive Officer (CEO) of Amba PLC is expecting to achieve target sales
revenue of Rs. 800,000 in the next financial year. However, he expects to maintain the
existing operating, debt and dividend payout ratios while achicifing this sales target in
the next financial year.

Evaluate whether Amba PLC will be able to achieve the expected sales revenue target
in the next financial year.

(10 Marks)

ii.  The following information is reported as at 01 January, 2017 for Abba PLC .

Rs.
Cash 80,000
Account receivable 200,000
Inventory 60,000
Accounts payable 130,000
Notes payable 30,000
Accrued tax liability 60,000

The following information is also reported for the year ended 31 December, 2016 for

Abba PLC.
Rs.
Sales 800,000
Cost of sales 500,000
Purchases 300,000
Depreciation 15,000
Net income 25,000




it.

Abba PLC anticipates 10% growth in its sales while all expense items are expected to
increase by 12%, except for depreciation, which remains the same for year 2017. All
expenses are paid in cash as they are incurred, and closing inventory for year 2017
is projected to be Rs. 130,000. By the end of year 2017, Abba PLC expects to have
notes payable of Rs. 40,000 and a zero balance in accrued taxes. Abba PLC is
considering a change in credit policy where ending accounts receivable reflect 90
days of sales. All sales and purchases are done on credit basis. Assume 360 days per

year.

a, Evaluate the impact of this policy change on the company’s cash balance.
(12 Marks)

b Identify whether the company needs to borrow any additional funds if the

company expects to maintain a minimum cash balance of Rs. 50,000.

(03 Marks)

{Total 25 marks)

Development of a sustainability balance score card is one of the ways to assess the
corporate contribution towards the sustainable development. Construct a sustainability
balance score card using appropriate performance measurement indicators under

different perspectives.

{10 Marks)

Delta PLC is a listed appare! manufacturing company which has several operations
across the globe while headquartered in Colombo which is the commercial hub of Sri
Lanka. At the last board meeting, the Chief Executive Officer (CEQO) of Delta PL.C
has proposed to acquire another rival apparel manufacturing company, Gamma PLC,

in order to expand the existing production capacity of the company.

-



The foliowing informatior is extracted from the recently published financial

staternents of Delta PLC and Gamma PLC.

Gamma PLC Delta PLC
Sales (Rs. 000) 35,000 64,000
Gross profit margin 28% 40%
Depreciation (Rs. 000) 500 750
Other expenses (Rs. 000) 7,500 20,500
Share capital (Rs.1.00) 800, 000 1,200,000

Estimated annual synergies of Rs. 5.5 million are expected to achieve as a direct
consequence of this acquisition proposal. Further, the eaming yield of the combined
company is expected to be 0.125 while the current market prices of Delta PL.C and
Gamma PLC are 16 and 12 times higher than their earnings per share respectively.

Both companies are liable to pay 20% corporate tax.

Advise the CEO of Delta PLC, showing all relevant calculations, the ideal price range
that Delta PLC should consider in the process of acquiring Gamma PLC.

(15 Marks)

{Total 25 marks)
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;

Where r = discount rate
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